(a+ b+ c)* =a*+ b*+c*+2ab + 2bc + 2ca

whole

@)= @)ty Gopers o
bl

D —






Mental Practice:

a+b+c a*+b*+c*> ab+ bc+ca

19 _3%e=1323 114
11 1]+12= 133 -6




All are the same identity:

!
(a+b+c)2=a2+b2+c2+2ab+2bc+2ca:l

bs-b{@a— b + ¢)? =(a2+b2+cz—2a_lg—2bc+20a
k (a—b—c)* =a?+b?*+c*—2ab+2bc—2ca

a+b—c) =a?+b?+c*+2ab—2bc—2ca

@b (oo
I -




157 If a+b—c=12 and a?+ b? +c? =110,

2
2 2 .2 then which among the following relations is
(O-I'b-ft> = (i 4b1C /
+2 (ﬁb'l'

true?
b+ (p) ab + bc + ca = 34

(q) ab + bc — ca =17
(r)ab — bc + ca =17
ab -b(-Co= My—-110  Asfab—bc—ca=17

2 ﬂﬁa+b—c:iz3ﬁ1a2+p?+c2:110,
2y ar @ & ¥ Sl @1 gar I 2
-'-—5(:|7 (p) ab + bc + ca = 34

(q) ab + bc — ca = 17
(r)ab — bc + ca =17
(s)ab — bc —ca =17
a)r b) q

cp \ﬂ S




33%. If @+ y? +8z% —22xy +
2 2 2 4\2yz —8zx = (Ax +y + Bz)?
@’L} ‘!’(‘2) + @ﬁz) then the value of (4% + B2 — AB) is:
afe 2x% + y2 + 82% — 2/2xy +
—2-)’27(51. -r:l-y-?-ﬁz— —Z-fz% 4\2yz —8zx = (Ax +y + Bz)?, @
x2[22 (A*+B2-AB)F AR &

a) 16 14
Qﬁ%’tai'?—ﬁz)’z c)6 d) 18
”J_l Zﬁ_
Q-Kz.w

SSC CHSL 4 Mar 2020 S3 6



224 If x + z =19, x* + y*> + 2?2 =133
9\3 2} anhen the difference between

'X»‘\'g'l‘l'Z’lF i‘i‘:ﬁ—= [ 1Y/ zandxis:
2 I x+y+z =19, x> +y*+z2%=

1333 xz = y2 & @ x 3k z & &=
.'-HFR'%

0.< - =

\9% " s NP s 03 d)4

2
XK2=6=36 At7= n

I\

A xu

+”7-

| | 7



0. f  (P(x+y+2) =36, y*(x+y+2z) =81,
22(x +y + 2) = 144) xy(x +y + z) = 54,

@*3*"")(’(’7%) 0] YAxFY+2) =108 zx(x+y+2) =72)

then X
u—g{*‘ﬂ’ﬁ»yz(x+y+2) = 81,
+ (’K‘\n‘t?’) (‘)l(‘j'\'JZ‘i'Z’L) m z’(x+y+2z) = 144, xy(x +y+ z) = 54,
yz(x+y+2z)=108,zx(x+y+2) = 72

ar AT ATT HU |

(yrr) (uvnj =129 as 07 A2 d) 4
Q)= 2379

D | T




2y).ifa+b+c=2andab + bc + ca = —1, then (a + b)? +
(b+¢)?+ (c+a)? =?
I a+b+c=23R ab+bc+ca=-1% @ (a+b)?+
(b + ¢)?> + (c + a)? AT A |
a)5 S 10 c)6 d) 25

2 2 2
Q0% 2b+2C 4 Qab+ 2(+24,

2 (@48 ) ()
4-2)
=6

D —




w2. Ifx =243, y=2—\/§andz= 1, then what
isthevalueofi+l+i+2[1+1+1] =7
yz Xz Xy X y z

2, yoot Mz 2
W Y A2 1YL ieriny G x=2+V3 y=2-V3aumz =18

Yz ZilyZy2|ttotr| =r@ AW A R
yz xz Xy X y z
2. jfzs b) 22 c) 17 d) 43

(y+2) _ as
g

1



21,1 1_ 2.0 B2 4 2
3%3.?+b;c—?3,&+b+c—‘2ja + b+ c* =6,
ind abc =
ob+bctla _ 5 L1 o
odnC. a+b+c:3,;+z+;=2,a + b* + c“ =
68, abc ATT FA |
4 1 )
a); b) £ \yé d) Can’t say
I-¢.3
LR EX\ Y
XX




5H\1.If£+g+f=1&2+2+£=O,Wherep,q,randa,b,carenonzero,

')(z_ﬁ 2 qz 2

o thenthevalueof—+ +—2=
\3;1 m;+;+;_1&;+ +-=0,37%1p,q,r 3R a b, c g7 §

b pZ qZ T'Z

~ Z2tertz=?
z=1 a b c

c a) -1 b) 0 A d) 2

12



14 P a9,r_q23_, b c_ - _
1:.? ?_—__b?; Z;E 3‘45.Ifa+b+c—1,p+q+r—1,pqr— 1 and

Qa abc =1andp,q,r &a, b, c are non-zero,
hen find 2 + £ = .
l’\'”‘fzzl l«(--L-(-EI:, then fin
% g g Bl i=1242 +——1pqr——

fy)d.\,(t’z-rll BﬁTabc—l% 31’?{'p,q,ra'abc i
YT HEAT §, Fﬂ—+ +—?n?raﬂ’r|

rx,nzz %%::\L :@7\ a) -1 b) 0 / @Va d)2

WA"‘A“Z?@—I & —\\a L,

=023

E— SR




| _ I_l:M AR
+ gL AL A | ab bc ca
W/a b C / a_l:b,b_lzca'znc—_—a%r(_'ﬂ
| 1ol ATy
X + Z)* =0 a)-3 )- c)-1 d)-9
L — ’X:_! ._-___l. 2-_—.’
/O(i*r_'.-;l‘c)}i"-Q + ’2':/61'4?(1"3@([ 2 I c
o ¢
| R NG P
— sl 4 2 =6
b

14
SSC CGL T2, 19 Feb 2018



Concept:
() an >jue

(@104 ab-be—ca)= 3l bF + =07 + e~

=(a+b+c)®>—3(ab + bc + ca)
A= dol9
3(‘3:%7,o>‘
2
C=221

D — 1




2« [t483 -obstc-n)
-1 [ij
&

= —éi(()- b)‘]; Qa— c}1+ (¢- aj’x

N ]



2. If mS then the value of
a2+b2\+_c—f—kab/—bc—cais
M a=7b=5c=3 §a a2+
b% + ¢? — ab — bc — ca T HATT:
12 b) -12 c)0 d) 8

‘_-IZ‘[LH- L{-;-lﬁ:]: |2




_'z[lﬂw}g

M3, If x =2019,y = 2020,z =2021 then
the value of x% + y2 4+ z2 — xy — yz —
zx =7
AR x =2019,y = 2020,z = 2021 %

ﬂ_x2+yz+zz—xy—yz—zx:?
e b) 4 c) 6 d) 2




2uq. f x =997,y = 998,z = 999 then the value of x* + y? + z2 — xy —

yZ — zx =?
IR x=997,y=998,2z=999 g @ x> +y*+ 2> —xy—yz—

zZx =?
a)o b) 1 c)-1 \/()3

_,Z[ITH\*IJ




2. Ifx + y+z =22 and xy + yz + zx = 35, then what is the value of
x—y*'+ -2+ (z—-x07
I x+y+z=22 AW xy+yz+zx =358, a (x—y)* + (y —
z)? + (z — x)* T AT g7 '
a) 379 b) 681 758 d) 715 /

vy’ 7= (wrgz47) = ("*5{7')?-— 3Gy +yzeen)

2= sy RERE mﬂ
dos

319




251 - Ifxy+yz+zx:6andx2+y2+zz=13then%(x+y+z)
[x =2+ -2+ (z—-x?] =?
IR xy+yz+zx = 6 3T x2 + y2 + 22 = 13§, HT%(x+y+z)

[(x - )’)Z_ +(y—2)?%+(z- x)Z] —2
%5 b) 30 c) 25 d) 24

x5 x {2‘5— l\?j; \S B =g
Q5‘®x5:35

D —



82 fa=x+y,b=x—y,c=x+2ythena?® + b%* +c?> —ab —
bc—caz?/&

f M a=x+yb=x—y,c=x+2yg a a?+b%+c2-

N, S ab — bc — ca =?
Y, a) 4y” b) 5y° c) 63 /ﬁyz
| ) 4 B
Ny 2
_LY Y +qj+j]
s
= MyZ

JZ

D



Concept: a?+b*+c*—ab—bc—ca=0

A=0=C
9 2
7] -(—b —i-(_2: abh+b<
%{(a-biﬂr (,b—cgl +@-Q§L} = o :—G‘
) (o) ©
Q=b =¢ (=

| | 23



255, Ifa? + b?> + c> —ab—bc—ca=0thena:b:cis:
IR a?+b*>+c*—ab—bc—ca=0 g @ a:b:c &
a)1:2:1 b)2:1:1 1:1:2 A1 1:1

Haryana CET 6 Nov 2022 S2



3x*+7y*+524
5x2y2+7y2z2+3z%x2
+7y*+524
542y2H7y2 22 +37222

is

3Y. If x% + y% + z? = xy + yz + xz then the value of

IR x2+y2+ 22 =xy+yz+xzg Al
a)2 1 c)o d-1

G s

X




3xt+7yt452%

255. If x? + y* + z? = xy + yz + xz then the value of yiylaiaix

IR x2+y2+ 22 =xy+yz+xzg Al 6

2y'+yzz'-|-z x'

a)2 b) 5 c)o JfCan’t say

G
=% &

< 7




156. For real a, b,cifra2 + b% + ¢? = ab + bc + ca, the value of a;r.c is :
aIEdfds HEAIU a,b, ¢ & T 3R a? + b2 + ¢ = ab + bc + ca
T “T“ T AT

2 b) 1 )0 d) 3




1,1 ,1_ 1,1 1 .
5. fx# 0,y # 0,z # 0and 5 + — + 5 = — + — + — then the relation
X y z yz = zZXx

xy
among x,y, Zis

3T3Rx¢0y¢02;t03ﬁ'\"1+ +z_2=x_+y_z ;%Fﬁxy,
1 a1 fRear 32 A% +b5+ (= abotb+ (o
a)x+y+z=0 b)x+y=2z
1 1 1
C);‘F;‘I‘;:O %x:y:z _]_;&'
X
I \
¥ == ‘-"_I —-_b
J = D'
) X=y >=c

28



2538. If 3 (a® + b% + ¢?) = (a + b + ¢)?, then the relation between a, b and c
is

IR 3 (a? +b%+c?)=(a+b+c)?§ a ab3iR cH a1 GFaey

e?
aJa+b #*c b)a—bic
cJa+b=c a=b=c

13a +%b+/3c /@z//b/{ ¥ 20+ bt 2(a

D A0 3 abo-0) = o
q:\D:Q_

D | TR
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